
  

4. (a) Accept 990 to 1030 inclusive  B1 1.1b 

  (1)  

    

(b) Any range between 10 and 50 inclusive B1 1.1b 

  (1)  

    

  (2 marks) 

 Notes 

(a) B1  (Median pressures usually around 1000~1020)                                                    [LDS mark] 

  

  

(b) B1 Any answer in this range                                                                                       [LDS mark] 

       Allow answers in the form a ~ b where  b a−  is between 10 and 50 

       Also allow the case where both a and b are in [10, 50] 

  


